FRAMEWORK AGREEMENT LIST DEPARTMENT OF EDUCATION

No.	Item/Service Type and Nature of each item/service	Cost per item or service	Maximum Quantity	Total Cost per Item or Service *computaion is based on distance from NCR to various delivery points. Hence should point of origin be changed resulting to reduction of distance, aappropriate downward adjustments on cost shall be made
	I. LOGISTICS SERVICES			

	I. LOGISTICS SERVICES			
1	Logistics Services for DepEd Computerization Program (DCP-2020) to NCR Recipient Schools	775.00	2,492 cbm	1,931,300.00
2	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to CAR Recipient Schools	3,115.00	511 cbm	1,588,650.00
3	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 1 Recipient Schools	2,470.00	1,340 cbm	3,309,800.00
4	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 2 Recipient Schools	3,595.00	1,970 cbm	7,082,150.00
5	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 3 Recipient Schools	1,950.00	2,976 cbm	5,803,200.00
6	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 4-A Recipient Schools	1,275.00	3,448 cbm	4,396,200.00
7	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 4-B Recipient Schools	4,340.00	698 cbm	3,024,980.00
8	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 5 Recipient Schools	3,580.00	2,085 cbm	7,464,300.00
9	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 6 Recipient Schools	5,400.00	4,135 cbm	22,329,000.00
10	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 7 Recipient Schools	5,620.00	2,275 cbm	12,785,500.00
11	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 8 Recipient Schools	6,100.00	1,500 cbm	9,150,000.00

12	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 9 Recipient Schools	7,190.00	2,026 cbm	14,566,940.00
13	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 10 Recipient Schools	7,230.00	1,464 cbm	10,584,720.00
14	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 11 Recipient Schools	7,430.00	1,458 cbm	10,832,940.00
15	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 12 Recipient Schools	7,740.00	1,425 cbm	11,029,500.00
16	Logistics Services for DepEd Computerization Program (DCP-2020) from NCR to Region 13 Recipient Schools	6,910.00	1,525 cbm	10,537,750.00
17	Logistics Services for DepEd Computerization Program (DCP-2021) to NCR Recipient Schools	775.00	675 cbm	522,350.00
18	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to CAR Recipient Schools	3,115.00	1,519 cbm	4,731,685.00
19	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 1 Recipient Schools	2,470.00	2,368 cbm	5,848,960.00
20	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 2 Recipient Schools	3,595.00	2,095 cbm	7,531,525.00
21	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 3 Recipient Schools	1,950.00	3,031 cbm	5,910,450.00
22	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 4-A Recipient Schools	1,275.00	2,934 cbm	3,740,850.00
23	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 4-B Recipient Schools	4,340.00	1,942 cbm	8,428,280.00
24	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 5 Recipient Schools	3,580.00	3,162 cbm	11,319,960.00
25	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 6 Recipient Schools	5,400.00	3,334 cbm	18,003,600.00
26	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 7 Recipient Schools	5,620.00	3,092 cbm	17,377,040.00

27	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 8 Recipient Schools	6,100.00	3,458 cbm	21,093,800.00
28	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 9 Recipient Schools	7,190.00	2,094 cbm	15,055,860.00
29	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 10 Recipient Schools	7,230.00	2,077 cbm	15,016,710.00
30	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 11 Recipient Schools	7,430.00	1,772 cbm	13,165,960.00
31	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 12 Recipient Schools	7,740.00	1,859 cbm	14,388,660.00
32	Logistics Services for DepEd Computerization Program (DCP-2021) from NCR to Region 13 Recipient Schools	6,910.00	1,697 cbm	11,726,270.00
33	Logistics Services for Textbooks & Instructional Materials (2020) to NCR Recipient Schools	775.00	1,142 cbm	885,050.00
34	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to CAR Recipient Schools	3,115.00	220 cbm	685,300.00
35	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 1 Recipient Schools	2,470.00	634 cbm	1,565,980.00
36	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 2 Recipient Schools	3,595.00	440 cbm	1,581,800.00
37	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 3 Recipient Schools	1,950.00	1,290 cbm	2,515,500.00
38	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 4-A Recipient Schools	1,275.00	1,622 cbm	2,068,050.00
39	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 4-B Recipient Schools	4,340.00	445 cbm	1,931,300.00
40	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 5 Recipient Schools	3,580.00	909 cbm	3,254,220.00
41	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 6 Recipient Schools	5,400.00	1,014 cbm	5,475,600.00

42	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 7 Recipient Schools	5,620.00	987 cbm	5,546,940.00
43	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 8 Recipient Schools	6,100.00	664 cbm	4,050,400.00
44	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 9 Recipient Schools	7,190.00	512 cbm	3,681,280.00
45	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 10 Recipient Schools	7,230.00	642 cbm	4,641,660.00
46	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 11 Recipient Schools	7,430.00	655 cbm	4,866,650.00
47	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 12 Recipient Schools	7,740.00	607 cbm	4,698,180.00
48	Logistics Services for Textbooks & Instructional Materials (2020) from NCR to Region 13 Recipient Schools	6,910.00	424 cbm	2,929,840.00
49	Logistics Services for School Furniture (2021) to NCR Recipient Schools	775.00	526 cbm	407,650.00
50	Logistics Services for School Furniture (2021) from NCR to CAR Recipient Schools	3,115.00	579 cbm	1,803,585.00
51	Logistics Services for School Furniture (2021) from NCR to Region 1 Recipient Schools	2,470.00	1,638 cbm	4,045,860.00
52	Logistics Services for School Furniture (2021) from NCR to Region 2 Recipient Schools	3,595.00	1,859 cbm	6,683,105.00
53	Logistics Services for School Furniture (2021) from NCR to Region 3 Recipient Schools	1,950.00	2,728 cbm	5,319,600.00
54	Logistics Services for School Furniture (2021) from NCR to Region 4-A Recipient Schools	1,275.00	2,090 cbm	2,664,750.00
55	Logistics Services for School Furniture (2021) from NCR to Region 4-B Recipient Schools	4,340.00	1,388 cbm	6,023,920.00
56	Logistics Services for School Furniture (2021) from NCR to Region 5 Recipient Schools	3,580.00	2,018 cbm	7,224,440.00

57	Logistics Services for School Furniture (2021) from NCR to Region 6 Recipient Schools	5,400.00	1,729 cbm	9,336,600.00
58	Logistics Services for School Furniture (2021) from NCR to Region 7 Recipient Schools	5,620.00	1,333 cbm	7,491,460.00
59	Logistics Services for School Furniture (2021) from NCR to Region 8 Recipient Schools	6,100.00	804 cbm	4,904,400.00
60	Logistics Services for School Furniture (2021) from NCR to Region 9 Recipient Schools	7,190.00	843 cbm	6,061,170.00
61	Logistics Services for School Furniture (2021) from NCR to Region 10 Recipient Schools	7,230.00	662 cbm	4,786,260.00
62	Logistics Services for School Furniture (2021) from NCR to Region 11 Recipient Schools	7,430.00	609 cbm	4,524,870.00
63	Logistics Services for School Furniture (2021) from NCR to Region 12 Recipient Schools	7,740.00	1,469 cbm	11,370,060.00
64	Logistics Services for School Furniture (2021) from NCR to Region 13 Recipient Schools	6,910.00	1,069 cbm	7,386,790.00
65	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) to NCR Recipient Schools	775.00	284 cbm	220,100.00
66	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to CAR Recipient Schools	3,115.00	86 cbm	267,890.00
67	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 1 Recipient Schools	2,470.00	172 cbm	424,840.00
68	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 2 Recipient Schools	3,595.00	176 cbm	632,720.00
69	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 3 Recipient Schools	1,950.00	484 cbm	943,800.00
70	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 4-A Recipient Schools	1,275.00	368 cbm	469,200.00
71	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 4-B Recipient Schools	4,340.00	191 cbm	828,940.00

72	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 5 Recipient Schools	3,580.00	471 cbm	1,686,180.00
73	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 6 Recipient Schools	5,400.00	945 cbm	5,103,000.00
74	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 7 Recipient Schools	5,620.00	510 cbm	2,866,200.00
75	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 8 Recipient Schools	6,100.00	300 cbm	1,830,000.00
76	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 9 Recipient Schools	7,190.00	497 cbm	3,573,430.00
77	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 10 Recipient Schools	7,230.00	110 cbm	795,300.00
78	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 11 Recipient Schools	7,430.00	127 cbm	943,610.00
79	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 12 Recipient Schools	7,740.00	87 cbm	673,380.00
80	Logistics Services for Technical-Vocational-Livelihood (TVL-2021) from NCR to Region 13 Recipient Schools	6,910.00	31 cbm	214,210.00
81	Logistics Services for Science and Mathematics Equipment (SME-2021) to NCR Recipient Schools	775.00	237 cbm	183,675.00
82	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to CAR Recipient Schools	3,115.00	906 cbm	2,822,190.00
83	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 1 Recipient Schools	2,470.00	1,363 cbm	3,366,610.00
84	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 2 Recipient Schools	3,595.00	1,286 cbm	4,623,170.00
85	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 3 Recipient Schools	1,950.00	1,642 cbm	3,201,900.00
86	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 4-A Recipient Schools	1,275.00	806 cbm	1,027,650.00

87	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 4-B Recipient Schools	4,340.00	829 cbm	3,597,860.00
88	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 5 Recipient Schools	3,580.00	952 cbm	3,408,160.00
89	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 6 Recipient Schools	5,400.00	1,903 cbm	10,276,200.00
90	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 7 Recipient Schools	5,620.00	1,995 cbm	11,211,900.00
91	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 8 Recipient Schools	6,100.00	960 cbm	5,856,000.00
92	Logistics Services Science and Mathematics Equipment (SME-2021) from NCR to Region 9 Recipient Schools	7,190.00	944 cbm	6,787,360.00
93	Logistics Services Science and Mathematics Equipment (SME-2021) from NCR to Region 10 Recipient Schools	7,230.00	2,056 cbm	14,864,880.00
94	Logistics Services Science and Mathematics Equipment (SME-2021) from NCR to Region 11 Recipient Schools	7,430.00	1,413 cbm	10,498,590.00
95	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 12 Recipient Schools	7,740.00	2,002 cbm	15,495,480.00
96	Logistics Services for Science and Mathematics Equipment (SME-2021) from NCR to Region 13 Recipient Schools	6,910.00	1,125 cbm	7,773,750.00
		-		

II. WAREHOUSING SERVICES

97	Warehousing Services for at least 200 sqm	2,400,000.00	15 warehouses	36,000,000.00
98	Warehousing Services for at least 2,000 sqm	24,000,000.00	1 warehouse	24,000,000.00
	III. TAGGING SERVICES			

99	Tagging Services System	24,000,000.00	1 lot	24,000,000.00
100	Tagging Services Consumables	10,702,693.50	1 lot	10,702,693.50

TOTAL ABC:	<u>671,862,028.50</u>
------------	-----------------------

Expected delivery timeframe after receipt of a Call-Off.	Within (no of days) calendar days upon issuance of Call-off.	
Remarks:	Indicate here any other appropriate information as may be necessary.	
SIGNATURE OVER PRINTED NAME	POSITION	DEPARTMENT/ DIVISION